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[SMREIC L HFRE]
(86.10+213.00) x 1/2 = 224.325 m3

[HEFEIC & BFEE]
(86.10+314.81) x 1/2 = 300.683 m3

[BEI= & BiEKIHE]
300.683  224.325 = 1.34 {&
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I RHEHEOFE

1 FERARKE
Q=1,/1000XCX1XA
Q : FKDxIEE (m3hr)
C : MIERHHRE
I FHMEREEE 57 (mmhr)
A EKEE ()
BERERREIENERREREEEEEZERT 5,

TiEh! TR TiEsl TR REL
EiR 0.90 AR - FNOE JAVNES 0.15
B 0.85 HEDE L 0.30
Z DDA FEKE 0.80 HAEDORF LM 0.50
BKIMESE 0.80 JKE 1.00
felith (ZEih) 0.20

2 FERAKFAKEQOEH

IiE CHhlmE | ARKERE (M) CxA Q (m3.hr)
NP AP 0.90 9130. 58 8217.522 468. 399
ife 55 FR 1
EIE A
Tt
RESE 0.70
Rifh (ZEh) <t> 0. 20
Rt (Z=Hh) <FFI> 0.30
Z - BROBVAE 0.15
REDOFE L 0. 30
HEOR LM 0.50
Hi 9130. 580 468. 399




I REMmRKETEN

1 IELRAFEKERE

HfZ X 5 =X Sl i B - Bk
5 mEN = O—.A mEN
FaFNE K ZEko (m/hr) — k o (m/hr) 0.1080 0. 0540
k o (cm/sec) 0. 0030 0. 0015
f= 3.26 X 10 -2 m./hr

2 BREREOHHLESEOHEER
2.1 EEZFE=S
MKERBEREOBREEE FEEFKREIMFREEROZESEICET 551511
Ol - BHFEIEICKYEET B,
Qf =KX f
Qf : EEZBEE (m3/hr)
K: EsaE (m)
f o TIEOIMBEKERE (m/hr)
2.2 EEFEE
FBEL, EERTvERAVTERT S,
Qt=VXTv
Qt : EEFEE (m3)
Vo {KFE (m3)
Tv : ZEE (%)
2.3 EENES
Qd=Qf+Qt
Qd: EENEE (m3/hr)
Qf : EEZEE (m3/hr)
Qt : EEFEE (m3/hr)
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1) SRR

DL=40.0

XREMR R 05m

2) EEERFE
Qf=Kx f xExA
Qf : BEEZBEE (m3/hr)
K: EEE (m) = 1.308 NEH LY Shi{E

f . TIEOBMEKEFEL (m/hr) = 0.0326

E: 2EFRY = 0.810

A HERERE (m) = 86. 1
Qf= 1.31x0.0326x 0.81x 86.10 = 2.974  (m3/hr)

3) E#FPE

at= (A1+A2) -1/2-H

Qt: EEFTEE (m3)

A1l E@EE (m) = 86. 10

A2 KELERE (M) = 314. 81

H : KZE (m) = 1.50
Qt= ( 86.10+314.810) x1/2x 1.50 = 300.683 (m3/hr)

4) BENES
Qd=QfxQt
= 2.974 + 300. 683
= 303.657  (m3.hr)
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BENLUT
1) MeERAR

700

1020

5 | |

TRERZER =30

HEERT t=150 £E BK—k

2) HEZFEE
Qf=Kx f xEx L x ZE[gs
Qf : EEFHEE (m3/hr)
K: kB#E=s (m)
f o LEOFMBEKEZEE (m/hr)
E: Z28EH
L:EERE (m)

Q f= 4.77x0.0326x 0.81x 315.00

3) EEFEE
Qt=W-H- L - ZEfgse
Qt: EEFEE m3)
W : KEERTE (m)
H: &S (m)
L:MEER (m)
] | e 9% %

Qt= 0.70x1.020x 315.00x 0.95

4) RENES
Qd=QfxQt
= 39.676 +
= 253. 341 (m3.hr)

= 4.710
= 0.0326
= 0.810
= 315.00

= 39.676

= 0.70
1.02
315. 00

= 213.665

213. 665

KA1 LYHHEW{E

(m3/hr)

(m3/hr)
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=BREA DEHE (FIFE)

Za—75<A L=315.0m

=BEtE  H=1. 5m

. HEEZFE HEEFEE HEENES HE
m3.hr m3./hr m3./hr m3./hr
BB 2.974 300. 683 303. 657
BENLUT 39.676 213. 665 253. 341
&5t 42. 650 514. 348 556. 998 oK
> 468.399




